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Coordinate Geometry  
1 Mark 
1. Write the value of 𝑘 if the distance between (𝑘, 3)	&	(4, 5) is √5. 
2. Write the value of 𝑎	&	𝑏 if (2,−3) is mid- point of the segment joining (2, 𝑎)	&	(𝑏,−1). 
3. Is the area of the triangle joining points (1, 4), (2, 3)	&	(−2,−11) zero? 
4. (5, 5), (3, 3)	&	(−2,−11) are coordinates of the vertices of a triangle. Write the 

coordinate of centroid. 
5. Which points are collinear: 𝐴(4,−11), 𝐵(−4, 7), 𝐶(4, 5),	 

𝐷(4, 0), 𝐸(−4,−3), 𝐹(0, 0)  
6. Point 𝐴(3,−4) lie on a circle of radius 5cm with centre at  origin. Write coordinates of 

other end of the diameter whose one end is A. 
7. If 𝑃(0,−2)	&	𝑄(0, 3) are two points. Write the measure of 𝑃𝑄. 
8. What is the relation between 𝑥	𝑎𝑛𝑑	𝑦	if (3, 5)	&	(7, 1) are equidistance from 𝑇(𝑥, 𝑦). 
9. Write the relation between the vertices of a triangle with zero area. 
10. Is the point (5,−7) lie on a circle whose centre is at origin and radius 5√2 units? 
11. A line is drawn through 𝑃(4, 6) parallel to 𝑥 − 𝑎𝑥𝑖𝑠. What is the distance from the     

𝑥 − 𝑎𝑥𝑖𝑠.  
12. 𝑃 is a point on the perpendicular bisector of 𝐴𝐵. What is the relation between 𝑃, 𝐴	&	𝐵. 
2 Marks 
13. Find the coordinates of a point on 𝑦 − 𝑎𝑥𝑖𝑠 equidistance from the points 

(2,−2)	&	(−4, 2).  
14. 𝑃𝑄 is a line segment where coordinates 𝑃	&	𝑄 are (−4, 5)	&	(5, 2) respectively. Find 

coordinate of point 𝑅 on 𝑃𝑄 such that 𝑃𝑅 = 2𝑄𝑅. 
15. 𝐷𝑀𝑁 is an equilateral triangle with 𝐷(0, 0) & 𝑀G3,√3H. Find coordinate of 𝑁. 
16. 𝑃 is a point on 𝑥 − 𝑎𝑥𝑖𝑠 and 𝑄(−1, 5) is a point such that 𝑃𝑄 = 13. Find coordinate of 

𝑃. 
17. Find the value of 𝑥 if 𝑃𝑄 = 𝑃𝑅 and 𝑃(0, 2), 𝑄(3, 𝑥)	&	𝑅(𝑥, 5) are three points. 
18. Find the ratio in which the line segment joining (5,−3)	&	(−4, 6) is divided by            

𝑥 − 𝑎𝑥𝑖𝑠. 
19. Show that the mid -point  of the line joining (5, 7)	&	(3, 9) is also the mid- point of the 

line joining (8, 6)	&	(0, 10).  
20. In what ratio does the point KL

M
, 6N divide the line segment joining the points 

(3, 5), (−7, 9). 
21. Find the coordinate of point a 𝑅 such that OP

PQ
= R

S
 where the coordinates of 𝑃 are 

(−2, 1) and that of 𝑄 are (3,−2). 
22. One end of a diameter of circle is at (0, 3) and centre is (−1, 5). Find the coordinates of 

the other end of this diameter. 
23. Find the value of 𝑥 if 𝑃(𝑥, 𝑥) is equidistant from 𝐴(−1, 2)	&	𝐵(−2, 1). 
24. Find the area of ∆𝐴𝐵𝐶 whose vertices are 𝐴(−1, 2), 𝐵(−1,−2)	&	𝐶(2, 1). 
25. If (−1, 3), (1,−1)	&	(5, 1) are the vertices of a triangle. Find the length of median 

through first vertices. 
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26. Find the coordinates of point 𝑄,𝑅	&	𝑆 on 𝑃𝑇 such that 𝑃𝑄:𝑄𝑅: 𝑅𝑆: 𝑆𝑇 = 1: 1: 1: 1 and 
coordinates of 𝑃	&	𝑇 are (−3,−2)	&	(1, 4) respectively. 

3 Marks 
27. Find the value of 𝑦 such that 𝑎𝑟(∆𝐿𝑀𝑁) = 12 & coordinates of the vertices are 

𝐿(1, 2),𝑀(3, 𝑦)	&	𝑁(5, 2). 
28. The three coordinates of a parallelogram 𝑃𝑄𝑅𝑆 are 𝑃(−3, 1), 𝑄(1, 1)	&	(3, 3) find the 

coordinates of 𝑆. 
29. If 𝐴(−3, 2), 𝐵(𝑥, 𝑦)	&	𝐶(1, 4) are vertices of an isosceles triangle with 𝐴𝐵 = 𝐵𝐶. Show 

that 2𝑥 + 𝑦 = 1. 
30. Prove that the figure obtained on joining the mid -points of parallelogram 𝑃𝑄𝑅𝑆 is a 

rectangle where 𝑃(1, 0), 𝑄(5, 3), 𝑅(2, 7)	&	𝑆(−2, 4). 
31. Find the length of perpendicular from 𝑋(0, 6)	𝑜𝑛	𝑌𝑍, where coordinates of 𝑌	&	𝑍 are 

(−5,−3)	&	(−11, 3). 
32. Find the coordinates of the circumcentre of the triangle whose vertices are 

(0, 0), (8, 0)	&	(0, 6). Also find the circumradius. 
33. If the point (6, 4) divides the line segment joining 𝐿(8, 5)	&	𝑀(𝑎, 𝑏) in the ratio 2: 5. 

Find the values of 𝑎	&	𝑏 and also find the coordinates of the mid -point  of 𝐿𝑀. 
34. If the coordinates of two adjacent vertices of a parallelogram are (3, 2)	&	(−1, 0) and 

diagonals cut each other at (2,−5). Find the coordinates of other two vertices of the 
parallelogram. 

35. In what ratio, the line joining (1, 3)	&	(2, 7) is divided by 3𝑥 + 𝑦 = 9. 
36. The joining of 𝐷(−4, 0)	&	𝐸(0, 6)	is divided by 𝐷L(𝑝, 2)	&	𝐸L K−

S
R
, 𝑞N in three equal 

parts. Find the values of 𝑝	𝑎𝑛𝑑	𝑞. 
37. For what value of 𝑐 the centroid of a triangle with vertices 𝑃(1, 𝑎), 𝑄(2, 𝑓)	&	𝑅(𝑐M, −3) 

lie on 𝑦 − 𝑎𝑥𝑖𝑠. 
38. If the vertex 𝑃 of a ∆𝑃𝑄𝑅 is (−1, 2) and mid points of 𝑃𝑄	&	𝑃𝑅 are (−1, 0)	&	 KL

M
, R
M
N. 

Find the coordinates of 𝑄	𝑎𝑛𝑑	𝑅. 
39. Length of a line segment is √34 units. If one end is at (4, 2) and ordinate of second end 

is 5. Show that abscissa is either −1	𝑜𝑟	9. 
40. (6,−10), (−8, 14)	&	(−4,−2) are the coordinates of mid- points of a triangle. Find the 

coordinates of the vertices of the triangle. 
41. If 𝑃(𝑝, 𝑞) is equidistant from the points 𝐴(𝑎 + 𝑏, 𝑏 − 𝑎)	&	𝐵(𝑎 − 𝑏, 𝑎 + 𝑏). Prove that 

𝑏𝑝 = 𝑎𝑞. 
42. 𝑃(−2, 2), 𝑄(𝑞, 8), 𝑅(6, 𝑟) are the coordinate of three concyclic points whose centre is 

at (2, 5). Find the possible values of 𝑞	&	𝑟. 
43. If area of quadrilateral 𝑃𝑄𝑅𝑆 is zero, where 𝑃(1,−2), 𝑄(−5, 6), 𝑅(7,−4)	&	𝑆(ℎ, −2) 

are vertices, show that ℎ = 5. 
44. If coordinates of vertices of the quadrilateral are 𝐿(6, 3),𝑀(−3, 5),𝑁(4,−2)	&	 

𝑃(𝑥, 3𝑥). Find the value of 𝑥 if 𝑎𝑟(∆𝐿𝑀𝑁) = 2𝑎𝑟(∆𝑃𝑀𝑁). 
45. 𝑃(−1, 5), 𝑄(3,1)	&	𝑅(5, 7) are coordinates of vertices of ∆𝑃𝑄𝑅 with area 16 square 

units. 𝑆, 𝑇	𝑎𝑛𝑑	𝑈 are the mid points of 𝑄𝑅,𝑅𝑃	&	𝑃𝑄. Find the ratio de(∆OQP)
de(∆fgh)

 

Answers 
1. 𝑘 = 3, 5 
2. 𝑎 = −5, 𝑏 = 2 
3. 9	𝑠𝑞. 𝑢𝑛𝑖𝑡𝑠 

4. (2,−1) 
5. 𝐴, 𝐶,𝐷 
6. (−3, 4) 
7. 5	𝑢𝑛𝑖𝑡𝑠 
8. 𝑥 − 𝑦 = 2 
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9. 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠	𝑤𝑖𝑙𝑙	𝑏𝑒	𝑐𝑜𝑙𝑙𝑖𝑛𝑒𝑎𝑟 
10. No 
11. 6	𝑢𝑛𝑖𝑡𝑠 
12. 𝑃𝐴 = 𝑃𝐵 
13. K0, R

M
N 

14. (2, 3) 
15. G0,2√3H	𝑜𝑟	G3,−√3H 
16. (11,0)	𝑜𝑟	(−13,0) 
17. 𝑥 = 1 
18. 𝑘 = o

S
 

20. 𝑘 = L
R
 

21. KL
p
, −	M

p
N 

22. (−2, 7) 
23. (0, 0) 
24. 6	𝑢𝑛𝑖𝑡𝑠 
25. 5	𝑢𝑛𝑖𝑡𝑠 
26. 𝑄 K−2, qL

M
N , 𝑅(−1, 1), 𝑆 K0, o

M
N 

27. 𝑦 = 4 

28. (−1, 3) 
31. 10	𝑢𝑛𝑖𝑡𝑠 
32. 𝑟 = 5, 𝑐𝑒𝑛𝑡𝑟𝑒	(4, 3) 
33. 𝑀𝑖𝑑 − 𝑝𝑜𝑖𝑛𝑡	𝑜𝑓	𝐿𝑀 Kr

M
, LR
S
N 

34. 𝐶(1,−12),𝐷(5,−10) 
35. 𝑘 = R

S
 

36. 𝑝 = − s
R
, 𝑞 = 4 

37. 𝑐 = √3 
38. 𝑄(−1,−2), 𝑅(2, 1) 
40. (10,−26), (2, 6), (−18, 22) 
42. 𝑞 = 6	𝑜𝑟 − 2	&	𝑟 = 8, 2 
44. 𝑥 = LL

s
 

45. 4: 1 
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